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AN dot=SAFE A
My Nz
CHelr BAUNYASGE N BB (MEESEE) (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Od=EgR SAA AEWNSE U 1,750
OM£ZUR BAX DS oYl
350,000& x5 *13] 1,750
206 = Hl 2,527,560 2,973,600 A 446,040
01 M2 4l 2,527,560 2,973,600 A 446,040
O+=x=+ Yl 510,000 4133 123 2,527,560
308 X EHSOIA 700,800 768,000 A67,200
10 JIEtRE= 700,800 768,000 AB7,200
os0s2g3 365,000 x160& x 12 700,800
403 MtXISHE X201 & 3,057,995 3,278,400 A 220,405
02 S| 2SO0l CHEHTHEH AL B 3,057,995 3,278,400 A 220,405
OXNEL=EE2YE =28 A= 3,057,995
ol Bl gl 120,000 120,883 A 883
801 Ol I 120,000 120,883 A 883
01 etoildl gl 120,000 120,883 A 883
©uuldl bl 120,000
HZ2F A 39,765 39,671 94
A2 (At E ML) (4= SEFH) 39,765 39,671 94
aa=E8 3 012AY| 39,765 39,671 94
101 @124l 39,765 39,671 94
03 RIHAZ 22+ 39,765 39,671 94
Qa2 olAY| 39,765
OJdles 1,708,5703 x1H x 123 20,503
Oz 1,925,060%4 2 J| 7,701
Ous&E x| 200,000& x1H «12& 2,400
OP == 80,000 «1H x 128 960
OZ 2 Ftyl 19,993,200 1.2/ 12& 2,000
OgtresrE 64,3103 1«15 965
Osthkt= 262,080& 4= | 1,049
O=RH=RE= 34,613,000& *4.5% 1,558
OHLESEESRES 34,613,000& *2.9% 1,004
OLRABEHELS 1,004,000& 6. 55% 66
OL=2EEERE3 34,613,000& *1.4% 485
OMMEE = 34,613,000& *3. 1% 1,074




